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v

Credit market freezes both in US (2008) and Europe (2010);

v

Similar responses = Lowering the cost of money;

v

Different responses = Large-scale Credit-Easing has been
implemented in US, but not in Europe;

v

Credit-Easing in US was successful!
» TALF:

> "lending against the wind": $ 71.1 bil. to investors in
highly-rated ABS

> earned $ 1.2 bil. in interest income for the US taxpayer.
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A challenge to Economic Theory

» Was the Fed better informed or just lucky?

» How should a CB react when "lowering the cost of money" is
not effective?

» Which market failure can Credit-Easing policy cure that other
policies cannot?
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Self-Confirming Equilibrium (SCE)

» We introduce SCE (Fudenberg and Levine (ECMA, 1993),
Sargent (AER, 2008)) in competitive credit-search economies.

» Banks are stuck in a pessimism trap resulting in excessive
credit tightening;

> in a SCE (= REE)
> high perceived risk = high interest rates = high risk
» banks are wrong about unobserved conterfactuals (% REE):

> low interest rates = low risk = higher profits

» Neither a unique equilibrium nor multiple REE;

» Rigorous framework to discuss how subjective beliefs matters:
only excessive risk-taking can be SCE (without being REE).
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Large-scale Credit-Easing Policy

» Private vs social value of experimentation:
» experiment as a public good,;

» The CB can be even more pessimistic of banks but still find
socially valuable to experiment with easier credit conditions;

» If successful, the policy provides observables which confute
pessimism and restore social efficiency.

> If not it clears the uncertainty.

» Experimenting through the market: large-scale banks’ subsidy
to induce "learning by doing".
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Connection with the literature

» Qur approach does not rely on a coordination failure across
banks (we have a problem of vertical rather than horizontal
integration)

» in contrast to Bebchuk and Goldstein (2011);

» does not presume the CB can do something that the private
sector cannot

> in contrast to Karadi and Gertler (2011);

» still maintains a potential major role for policy (conv. and
unconv.)

» in contrast to Chari and al. (2010);

» gives social value to experimentation

> in contrast to robustness: Sargent and Hansen (2007);
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Directed search for credit: timing

1.

Competitive banks can borrow at a rate Rcg controlled by the

CB

. A bank chooses at which R opening a FRFA credit line, which

costs ¢, filled with prob. g (R)

. Competitive firms choose to which posted R to apply for

credit, with success prob. p (R)

A firm also chooses: the type ¢ (R) and the size / (R) of the
investment

If the project is successful a firm pays back / (1 + R) to the
bank, only / otherwise

Banks pay back their loan / (1 + Rcp) irrespective of the
project success

» A bank needs to anticipate the choices of a firm!



Firms

> A project of size | yields a ex. net profit of

H(g,I,R):K(g,R)/—%Iz,

depending on the type of technology ¢ € {s, r} adopted,
K(r,R) = DC(Y—R),
k(ssR) = Y—-—k—R,

and: « the probability of success of the risky tech., k the
per-unit cost of the safe tech., Y the gross project return and
R interest rate on financing /.



Firms

> A project of size | yields a ex. net profit of

H(g,I,R):K(g,R)/—%Iz,

depending on the type of technology ¢ € {s, r} adopted,

K(r,R) = DC(Y—R),
k(ssR) = Y—-—k—R,
and: « the probability of success of the risky tech., k the

per-unit cost of the safe tech., Y the gross project return and
R interest rate on financing /.

» Firms choose R* € H, ¢* and I* which maximize
J=p(R)II(g,I,R),

where H is the set of announced contracts posted by banks.
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Banks

> The expected value of a credit line is
V(R)=q(R)I(R)7(¢", R Res).,
with
m(s,R,Rce) = R—Rcs,
n(r,R,Rcg) = aR— Rcg.
» R’ belongs to H* if

R' = arg sup EP [V (R) — (]
ReR

st. J=p(R)EP[II (g, I, R)]

where c is the cost of a vacancy and f8 is the system of beliefs
about firms’ reaction held by banks.
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Equilibrium

» A R* € H* is SCE if banks correctly anticipates firms’
reaction, at any local deviation from an equilibrium contract,
that is

EF[I"(R).¢" (R)] = [I" (R).¢" (R)]

for any R € S (R*) where S (R*) C R is a neighborhood of
R*.

» A R* € H* is REE if banks correctly anticipates firms’
reaction, at any deviation from an equilibrium contract, that is

EP[I"(R).¢" (R)] = [I" (R).¢" (R)]

for any R € R.

» That is, in a SCE banks’ priors about firms’ payoffs away from
the equilibrium are not restricted!
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The private market fails to experiment

v

In the dynamic economy (contracts last one period) : none
might experiment, neither privately...

> due to public info, gains would last just one period;

> ...nor in cooperation

> pessimistic beliefs give no room for cooperation;

> Problem of vertical (SCE) rather than horizontal integration
(multiple REE)!
» The experiment is a public good.
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Interest rate policy
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Unconventional Policy



Why should the authority be willing to take
the risk of experimentation?



Social Welfare
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The social value of experimentation

> In an intertemporal perspective the objective of the CB is to
maximize the social welfare

W; = EF [Z J Wt+r] ,

» Suppose ( is the probability that the CB attaches to
k = 0.004 (otherwise k = 0.007). The social value of
experimentation is

AW, = Eﬁ[Awt]+C—( —J).

» Large-scale experiment if Ef [Aw,] > 0 otherwise with a
controlled experiment Aw; = 0.



Using the market to experiment

Expected Socal Value of a Large-Scale Subsidy
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Our results and the European credit crisis

» Liquidity in the interbank market does not transmit to the
private sector



Our results and the European credit crisis

» Liquidity in the interbank market does not transmit to the
private sector

> especially true in Italy and Spain



Our results and the European credit crisis

» Liquidity in the interbank market does not transmit to the
private sector

> especially true in Italy and Spain

» Two possible causes:



Our results and the European credit crisis

» Liquidity in the interbank market does not transmit to the
private sector

> especially true in Italy and Spain

» Two possible causes:

» firms are fundamentally weak — no role for any liquidity policy



Our results and the European credit crisis

» Liquidity in the interbank market does not transmit to the
private sector

> especially true in Italy and Spain

» Two possible causes:

» firms are fundamentally weak — no role for any liquidity policy

> banks are trapped in SCE — credit policies can play a major
role



Our results and the European credit crisis

» Liquidity in the interbank market does not transmit to the
private sector

> especially true in Italy and Spain

» Two possible causes:

» firms are fundamentally weak — no role for any liquidity policy

> banks are trapped in SCE — credit policies can play a major
role

> the experiment is worth even if the result is negative!



Thanks for your attention
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ABS Market Freezes

Asset-Backed Security Issuance

Billions
5200
5180
5160
5140 ¥ Equipment
u Other
5120 Manufactured Housing
 Home Equity
5100 Student Loans
] ¥ Credit Cards
$80 l = Auto
560 l [ ]
- -
S40 I
~ 11 l
S0
Avg|Avg|ave|ave|ave|ave| @1 @2 @2 Q4@ @2 @3 Q4fQ1 @2 @ Q4|Q Q@2 Q3
2001|2002 32004/ 2005 2006| 2007 2008 2009 2010

Source: SIFMA & Bloomberg

*Q3not complete, data through 08/25



ABS Market Freezes

AAA-rated Consumer ABS Yield Spreads over 2-year Treasury
basis points.
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TALF as explained by the NYFed

www.newyorkfed.org/education/101talf.html

» Panic in the ABS market:

> "Beginning of mid-2007,...the number of defaults started to
rise"

> "Investors...started to fear that more defaults were coming..."

> "Investors either could not or did not want to continue buying
ABS"

» Successful (ex-post) 'lending against the wind":

» "The Fed lent a total of $71.1 billion to investors in
highly-rated ABS"

» "As of May 2011, there has not been a single credit loss"

» "Also, as of May 2011, TALF loans have earned $1.2 billion in
interest income for the US taxpayer"
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Implementation of the policy: why an universal subsidy?

36% Zero-Measure Subsidy
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Implementation of the policy: why an universal subsidy?

Maximal z for SCE
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» Y =0.03; Rcg =0.01; kK =0.004, « = 0.7, sub=1-«.



